Maths Lesson 3: Multiplying decimals by 10, 100 and 1000.
Independent Activities
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Further Extension Work
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1a. Find the digit card that matches each
caleulation.

aoxroms [som] (1) om0

1b. find the digit card that matches each

calculation.

A. 500 x 10 =

B.36 x 100 = @ 3600) | B. 12 x 1,000 = .. 12,000
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2a. Asha multiplies 35 by 10.

2b. Orla multiplles 17 by 1,000.

She says, She says,
‘ The 5 will move from the The 1 will move from the
‘ones column fo the fenths tens column to the fen
column. thousands column.
Is she correct? Explain why. Is she comect? Explain why.
mmnvo*mumm mmuvo*mumm

=
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3a. Complete the table.

3b. Complete the fable.

Th [Th | H [ T | O §iths|Hins| Tth [ Th [ H | T [ O ¥ths]Hths]
[
4 30 27 10
x10 x10
x100 x100
x 1,000 x 1,000
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Multiply by 10, 100 and 1,000

4a. Find the digit card that matches each
calculation.

A.2831 x 10 E
B.1.34 x 100 @E

C.12.06 x 1,000 =@ M &
g

4b. Find the digit card that matches each

calculation.
B.0.862 x 1,000 = @

c.19x 10 =M M [1]
g

A.70.1 x 100

5a. Hallie multiplies 0.741 by 100.

5b. Hanif multiplies 1.03 by 1,000.

hrig

She says, He says,
The 4 will move from the The 0 will move from the
hundredths column fo the fenths column to the
fens column. hundreds column.
Is she correct? Is he correct?
Explain why. Explain why.

i

4a. Complete the fable.

6b. Complete the fable.

235 29 0.44 15.628
x10 x10
x100 x100
x 1,000 x 1,000
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Multiply by 10, 100 and 1,000

7a. Find the digit card that matches each
calculation.

A2208 x 10 =[] £
B.11.11 x 1,000 o
C.1909x 10 = [1md) [rva)
D.60.31x 100 [san] [tom
w -

7b. Find the digit card that matches each
caleulation.

21z

A.2221 x 100 =

5.0.908 x 1,000 = v00 | (s | oo
C.118.09x 10 =[nn] [

D.100.01x 100 = 10001 100010 100010

4 ),

mo

8a. Claudia multiplies 3.102 by 10 and
then by 100.
She says,

8b. Fabian multiplies 100.793 by 10 and
then by 10 again.
He says,

The 1 will move from the
tenths column to the
hundreds column and the 0
will move from the tenths
column fo the hundreds

column.

The 9 will move from the
hundrediths column fo the
tens column and the 3 will
‘move from the thousandths
column fo the ones.
column.

Is she comrect?
Explain why.

g

Is he correct?
Explain why.

||

9a. Complete the fable.

9b. Complete the table.

19.098 | 2488 | 10056 0122 | 150.96 | 65912
x10 x10
x100 x100
x 1,000 X 1,000
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Match the answers to the quesions and colour them the corect colour.

Dark Blue Red Brown.
48x10 4800 x 10 84x10
84 x 1000 084x10 84810
8.4x100
Orange Light Blue

Yellow 4800+ 10 480 + 1000
0.48x 10 84000 + 10 0.086 x 100
0.068 x 100 4.8 1000
8600 + 100 68000 + 1000 Pink

48 + 1000

840 + 1000

8.4+ 100

Now colour the rest of the picture.
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